9 2016-2017% Torar <1l = okt STTd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
Rl EeiCo
T G 33 3fe it shearor
TS Uit =@
ST 0 0 0
[T e 3,51,00 11,00 3,62,00
2202 wmur= forer
RIS RGR
1 [01] {101} (495) #11 sEgfaa giaar @ o= 75,00 0 75,00
fedars
2 [0 {109} (761) @ #11 wEAfaE I T oS 6,00 0 6,00
IS IR
3 [02] {109} (979 #01 AT W, MR 80,00 0 80,00
[02 {109} (979 #04 FREE T 50 0 50
[02] {109} (979 #11 sEEfad giadi @ o= 37,50 0 37,50
feaemy
02 {109} (979)  #25 @I SR Uffar 0 12,00 12,00
[02] {109} (13%5) #11 BEGfw @Al & 3= 1,40,00 0 1,40,00
fedqars
plu 3,39,00 12,00 3,51,00
[T (orE vy ) - 2202 3,39,00 12,00 3,51,00
4225 srgfad sfaal, g s e, 31T
37 U= g ot oh HeATuT W USHTd
ue
RIS RGES
8 [02] {102} (6130) #34 TR H HA 0 11,00 11,00
PIo) 0 11,00 11,00
AT (o v ) - 4225 0 11,00 11,00
@ (Wi EE ) - 33 3,39,00 23,00 3,62,00
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9 2016-2017% Torar <1l = okt STTd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
o eI
I §&T -41 Mg SISt SRS
T Uit I
ST 19,11,00 29.50,00 48,61,00
SRS B 0 0 0
2202 wmur= forer
JTSET
1 [0 {104} (49%) #1 BEGf@E @A @ A 4,00,00 0 4,00,00
fedemy
01 {101} (495  #25 =R SR gffar 4,00 4,00
02 {109} (761) 11 wEdf@A i@ w6 = 6,00 6,00
fedens
[02] {109} (1395 #01 oa4 oI, omfs 53,00 0 53,00
[02] {109} (1395 #04 wECE =T 0 25,00 25,00
[02] {109} (13%5) #11 gl & 3= 342,00 0 34200
fedens
[(02] {109} (1395) #18 wifiaIte 6,00 0 6,00
(02 {109} (1395 #25 @A SR gffat 63,00 0 63,00
02 {109} (5480) #14 W& AN 0 395,00 395,00
10 [02] {109} (6140) #11 BEEfaE A T T 2,00 0 2,00
fedens
U 8,76,00 4,20,00 12,96,00
AT (o vie ) - 2202 8,76,00 4,20,00 12,96,00
2225 rgfed Sifd, SIgfed st 3T 37T
fuse ot &1 shearor
STESET
11 [02] {102} (5024) #25 WA SR UffEr 0 4,3500 4,35,00
12 [02] {102 (9853) #14 TEEE STEH 1,75,00 5,00 1,80,00
anT 1,75,00 4,40,00 6,15,00
QT (o vitd ) - 2225 1,75,00 4,40,00 6,15,00
4202 forem, @, shewm 3T HERia W USHt
uRe
JSET
13 [01] {202} (14000  #27 e Tl wE 0 12,00,00 12,00,00
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9 2016-2017% Torar <1l = okt STTd=

(RS TR T4 H)

FHG YA o WY A Seed 3 foraor afraret et RIn
e E o L

14 [01] {202} (1400) #97 fHHiUr W 0 17,50,00 17,50,00

IGRT 0 29,50,00 29,50,00

QAT (En v ) - 4202 0 29,50,00 29,50,00

@ ( mim e ) - 41 10,51,00 38,10,00 48,61,00
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9 2016-2017% Torar <1l = okt STTd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
Rl EeiCo
U §&T -49 3 dfea St shearor
TS Uit =@
ST 0 0 0
ATEHER 25,00 0 25,00
2202 wmur= forer
RIS RGR
1 [01] {101} (495 #11 sEgfaa giaar @ o= 5,00 0 5,00
fedars
2 [02 {109} (13%5) #11 B @A T T 20,00 0 20,00
IS IR
T 25,00 0 25,00
AT (o v ) - 2202 25,00 0 25,00
AT ( wimEET ) - 49 25,00 0 25,00
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9 2016-2017% Torar <1l = okt STTd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
e eI
U G -64  3Fged Sfd Su=irstT
T Uit I
ST 1,63,00 2,65,00 4,28,00
SRS B 0 0 0
2202 wmur= forer
JTSET
1 [0 {104} (49%) #1 BEGf@E @A @ A 17,00 0 17,00
fedemy
[02] {109} (979)  #01 o4 W, oMfg 20,00 0 20,00
[(02] {109} (979 #04 wFEEA FTH 1,00 1,00 2,00
[02] {109} (979 #11 BEgfw Il T 3= 8,00 0 8,00
fedemy
02 {109} (979)  #25 @I SR uffar 0 10,00 10,00
[02] {109 (13%5) #11 s« I« @ = 81,00 0 81,00
fedens
7 [02 {109} (1395 #25 W iR gfdar 25,00 0 2500
I 1,52,00 11,00 1,63,00
T (o vitd ) - 2202 1,52,00 11,00 1,63,00
4202 forem, @, shewm ST HERia W USH
uRe
JTSET
8 [01] {202} (14000 #27 @ fT WA 2,00,00 2,00,00
9 [01] {202 (14000 o7 T W 0 65,00 65,00
U 0 2,65,00 2,65,00
QT (o vitd ) - 4202 0 2,65,00 2,65,00
T ( Wi EE ) - 64 1,52,00 2,76,00 4,28,00
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9 2016-2017% Torar <1l = okt STTd=

(RS TR T4 H)
FHG YA o WY A Seed 3 foraor afraret et RIn
e eI
U G -66 fussiai td sreusiEms sedmon
T Uit I
ST 60,10,00 0 60,10,00
K IBIER 0 0 0
2202 wmur= forer
JTSET
1 [0 {109 (13%5) #11 e g @ e 2,00 0 2,00
fedemy
2 [02] {109} (1395) #25 WU IR uffAr 8,00 0 8,00
3 [02] {109} (3673 #11 BEGfwEIaEl T = 0 60,00,00 60,00,00
feders
I 10,00 60,00,00 60,10,00
I (e vt ) - 2202 10,00 60,00,00 60,10,00
e ( g EEr ) - 66 10,00 60,00,00 60,10,00
S AT - 15,77,00 1,01,09,00 1,16,86,00
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